Algebra RH

Essential Questions: How do we interpret algebraic expressions? How do we translate
words to symbols?

Do Now: +
Jaime works on commission for a furniture store. She earns a base pay of($8 plus@ of the

value of any merchandise she sells. Jaime uses the expression 80 + .05¢, where@epresents her
sales in dollars, to calculate her total earnings.
total sales in dollars, to calculate her total earning £ = dudil sades

A. Identify the terms of the expression. What does each term in the expression represent?

g0 s 05T
base pay commidfion
B. If Jaime sells $475 in merchandise, compute the total amount of money that she will earn.
80 +. 05t
30 +.05(475)
* 103,715.

Jordan works for the same company. Since he was just hired, he ear B5%)of the value of any
merchandise sold that exceeds a total of $200 Jordan uses the expression 80 + 05(t 200),
where@rTMfs his Total sales in dollars, in order to calculate his total earnings.

£= total sales

C. Can Jordan's expression be snmpln‘ued’

70 +.05€ -

D. How does Jordan's expression differ from Jaime's expression?

Total Sales had ™ 200 cubteacted Lo 1t
( Jordan docun't earn commission on +he F1t
__{1 .
E. How much would Jordan earn if he sold $475 worth of merchandise? 200 of £ ales
0 + - > 3 ’_ZUO .
: 5 (¢ ) 70 4 .05€

20 4+ ,05 (475-200) oC 704 .05(415)
90 4,05 (275)

92.15 Sl o
Let's Translatel e
Werite an algebraic expression for each verbal expression. / ':;E OD“'/+€/

ho*’
(1) A ballpoint pen selis for $0.39. Represent the cost Of@PE_‘]_S- 3IX e M\"HLY>
(2) If the distance from Hilda's school to her home is 145 miles,

represent the distance she has traveled aftey mjmiles. I 4 h—m
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(&) /' Now let's try some more complex expressions!

(3) Write an expression for the price of a sweaTer@

Ix + <0B%x 2 1. 08K
(b) with a 20% discount xG2) <35 8%

X + L%(“ZX (c) with a 20% discount and then an 8% sales tax (: ¥ %)( o 08)"9 RIZLE

(a) with an 8% sales tax

(d) identify the units associated with this expression dollacs

A (4) Write an wn for a taxi ride that charges an initial fee ond $0.50 for

)V Ni{ W\ each mile,
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(- v\“, (e
08 " ast
Yo ©

(5) Write an expression for a taxi ride that costs $2.50 for the 1°" mile and @or each
additional mile. & 5 n %
- m = B of addifione) mcles
m = H of mi \C 4
e [ | >
o a? 5 4+ .75(m

it (6) Alex purchased a 6 hour calling card. He has u?e@inu‘res of access fime. Write an
algebraic expression to represent how much time he has remaining, and identify the
\‘u units associated with the expression.

ot U )“ A p(ee) - x

2.5']' 0’75m
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ox© '\\{\5 Q;i) Charlie has 3 fewer $20-bills than he has $10-bills. Write an algebraic expression to
o represent how much money Charlie has in total. foc o \e (,L.\':» !
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Translate each statement into an algebraic expression.

1. The number of kilometers traveled by a bus is represented b If a train Travde@
kilometers farther Than the bus, represent the number of kilometers fraveled by the

train.

200 + X



- Mr. Gold invested$1,000)in stocks. If he Io:@ollars when he sold them, represent
the amount he received for them. , ' '

jeoo -d

. The cost of a fur coat @imgs the cost of a cloth coat. If the cloth coat cost{X)
dollars, represent the cost of the fur coat.

5%

f-ﬂ\
. The length of arectangle is represented @) If the width of the rectangle is one-half
of its length, represent its width.

L
L L ocr —
2 2
. Af'rg,_( 12 gentimeters had been cuf from a piece of lumber, there wer@}gnﬁme’rers

left. Represent the length of the original piece of lumber.
[ o

. Paul and Martha save@l‘f the amount saved by Paul is represented b@}epresem
the amount saved by Martha. _

100 — X

. The sum of two numbers i§’S;) If one number is represented b@epr‘esenf the other
number in terms of § and X.

5%
. A suit cosfs $450. Represent the cost of(71 buits.
(50N

. Aman sPenf@ﬁsr a suit and a coat. If he spe@ﬂo!lars for the coat, represent the
amount he spent for the suit.

Z5U*Y



10. The width of a rectangle i@en‘rime’rers. Represent the length of the rectangle if it
exceeds twice the width by 3 centimeters. '

X=width 2% +3 = }e{\zJ-Hr)

11. Represent the total number of calories i@eanu’rs _q@o’ra’ro chips if each peanut
conmiél’sﬁg;alories and each potato chip containg18 calories.

e e peRE

15 X 4 _ /3 v

Caler ed cfﬁ . Caleries
i one : in one  of
peanvt peanuvid chip Chip

12. The charges for a long distance telephone call ar§ $0.45 for the first 3 minutes and
< $0.09 for each additional minute. Represent the cost of a telephone call that Ias@

inutes when m is greater than or equal to 3. 7\
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